Find the missing side in each triangle. For non-
integer answers, leave them in sim£lest radical

8= 1250 =

3. Does each set of lengths form a right triangle?

a. 151?,%15071\—”01/ b. ll,;:,{6l 5—7 7:)_”
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4. Is this a Pythagorean Triple?

14, 48, 50 5])'2’_:: Lfi{%-l—l‘f’y

5. Find the value of x.
14

15




) 10 ”° §DH (’4/'/' /0/‘}
Y 5/&/2)(" b
hyp

In the triangle above, the sine of angle x ij

What is the cosine of angle y? ( 05 >/ — ad

8 f(x) =2*+1

The function f is defined by the equation above.
Which of the following is the graph of y = %( x) in

@ L)<= 2 oy
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Geometry 8-2: Special Right Triangles

Objective 1: I can find side lengths of a 45° —45° —9(0° triangle.

f\/

In an isosceles right 1angleq %ﬁcﬁﬁles are _——_ . Another name for an isosceles right

triangle is a

because of the measures of the angles. The

theorem we’re going to look at today shows the relationship among the 3 sides of this triangle.

Theorem 8-5: 45° —45°—-90° Triangle Theorem

Ina 45°—-45°-90° triangle, both le
and the length of the hypotenuse is

rondruent

times the lenbu of aleg.

hyp=

f&—'ﬂ,ej

Finding the hypotenuse of a 45°

—45°-90° triangle.

Example 1: Finding the length of each variable.

A)

h=a12

B)



QC 1: Find the length of the hypotenuse of aﬁ45°%angle with legs of length 5V3.

hyp =5Vle

Finding the leg of a 45° —45°—-9(0° triangle.

iy){@ple_z:mnd each variable. 6 _ \6 ) X
T Y=l . (Z =kl2




B) Find the length of a leg of a 45° —45°—-9(0° triangle with a hypotenuse of length 10.

o=
(2 =Wz

V=g 2
=612

Example 3: A high school softball diamond is a square. The distance from base to base is 60 ft. To
the nearest foot, how far does a catcher throw the ball from home plate to second base?

o g5w



QC 3: A square garden has sides 100 ft long. You want to build a brick path along a diagonal of the
square. How long will the path be? Round your answer to the nearest foot.

A = IOV >
_.__:)L“/ﬁ,

Objective 2: I can find side lengths of a 30° — 60° —90° triangle

Another special type of right triangle is a 30° — 60° —90° triangle. Today we will look at the
relationship among the 3 sides of this triangle.

Theorem 8-6: 30°—60°—-90° Triangle Theorem

In a 30°-60°—-90° triangle, the length of the hypotenuse is twice the length of the shorter leg. The
length of the longer leg is V3 times the length of the shorter leg.

‘ h ?—-a-smn/—t'
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Example 4: Find the value of each variable.

B) | _
,-;”” 4 g



D)

=19
s 5
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